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Ssc Cgl Tier | Previous Year Question Paper
Overview

Here, you can solve all the questions asked in Ssc Cgl Tier | Previous Year Question Paper on 2023-10-27 in the Morning
Shift exam. The detailed solutions are also provided for every previous year question and some of these questions can be
asked again in your Ssc Cgl Tier | exam. There are 25 questions in the exam and 60 minutes are provided for the Ssc Cgl
Tier | exam. The Cutoff of the exam was 140 marks hence you should try to score at least 150 marks.

Ssc Cqgl Tier | Previous Year Question Paper :
Questions and Solutions

Question 1:
Select the most appropriate meaning of the given idiom. Hard nut to crack

Difficulty : Moderate Average Time: 42 Seconds

Options :
1. A problem difficult to solve

2. To leave an effect
3. A situation that can be altered
4. To bid farewell
Solution :
The correct answer is option 1 i.e. A problem difficult to solve.
The idiom "hard nut to crack" is used to describe a problem or situation that is very difficult to solve or deal with.
It implies that the issue requires a lot of effort, persistence, or intelligence to overcome.
The other options do not accurately capture the meaning of this idiom.

Question 2 :
Select the option that expresses the given sentence in passive voice. Sanyukta has to bake fifty-one cakes for the
anniversary party.

Difficulty : Moderate Average Time: 53 Seconds

Options :
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Fifty-one cakes will be baked by Sanyukta for the anniversary party.
2. Fifty-one cakes had to be baken by Sanyukta for the anniversary party.
3. Fifty-one cakes have to be baked by Sanyukta for the anniversary party.
4. Fifty-one cakes has to be baked by Sanyukta for the anniversary party.

Solution :
The correct answer is option 3 i.e. Fifty-one cakes have to be baked by Sanyukta for the anniversary party.

Subject: "Fifty-one cakes" (new subject in passive voice).

Verb: "have to be baked" (passive form of "has to bake" indicating obligation).
Agent: "by Sanyukta" indicates who performs the action in passive voice.
Additional information: "for the anniversary party" specifies the purpose or context.

Question 3:
Select the INCORRECTLY spelt word.

Difficulty : Moderate Average Time: 62 Seconds

Options :
1. Submisive

2. Validity
3. Kaleidoscope
4. Animation
Solution :
The correct answer is option 1 i.e. Submisive.
The incorrectly spelled word is: Submisive.
The correct spelling is: Submissive.
It means 'willing to obey someone else or willing to submit to someone else's authority.'

Example: "The dog was submissive to its owner, following every command without hesitation."

Question 4 :
Select the option that can be used as a one-word substitute for the italicised group of words in the given sentence. The
prime minister paid tributes to the martyrs by laying circular arrangement of flowers.
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Difficulty : Moderate
Average Time: 53 Seconds

Options :
1. buds

2. posies
3. bouquets
4. wreaths
Solution :
The correct answer is option 4 i.e. wreaths.
A wreath is a circular arrangement of flowers, leaves, or stems, typically used as a symbol of respect or remembrance.
The other options:
Buds refer to the early stages of flower development.
Posies are small bunches of flowers.
Bouquets are arrangements of flowers but not specifically circular.
Therefore, the correct substitute is wreaths.

Question 5:
Select the most appropriate ANTONYM of the underlined word. The village fair was cancelled due to incessant rains.

Difficulty : Moderate Average Time: 52 Seconds

Options :
1. Insistent

2. Daily
3. Sporadic
4. Continual
Solution :
The correct answer is option 3 i.e. Sporadic.
Incessant means continuing without interruption; unending.

Sporadic means occurring at irregular intervals or only in a few places; scattered or isolated, which is the opposite of
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continuous.
Therefore, the correct antonym for "incessant" is sporadic.

Question 6:
Select the option that can be used as a one-word substitute for the given group of words. The practice of writing
dictionaries

Difficulty : Moderate Average Time: 47 Seconds

Options :
1. Anthropology

2. Lexicography
3. Photography
4. Philology
Solution :
The correct answer is option 2 i.e. Lexicography.
Lexicography specifically refers to the art or practice of compiling dictionaries.
It encompasses all aspects of dictionary creation, including collecting, defining, and organizing words and their meanings.

Question 7 :
Select the most appropriate ANTONYM of the given word. Trivial

Difficulty : Moderate Average Time: 39 Seconds

Options :
1. Significant

2. Huge

3. Heavy

4. Light
Solution :
The correct answer is option 1 i.e. Significant.
Trivial means of little value or importance.

Significant means important or of consequence, which is the opposite of trivial.
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Therefore, the correct antonym for "trivial" is significant.

Question 8 :
Select the most appropriate ANTONYM of the underlined word. | object the false claims made against me.

Difficulty : Moderate Average Time: 43 Seconds

Options :
1. assent

2. ease
3. restore
4. ascertain
Solution :
The correct answer is option 1 i.e. assent.
Object in this context means to express disagreement or opposition. Assent means to agree or approve.
The other option means:
Ease means to make less difficult or to relax.
Restore means to bring back or return to a previous state.
Ascertain means to find out or determine.
These options do not directly oppose the meaning of "object" in the given sentence.
Therefore, assent is the correct antonym here, as it denotes agreement rather than disagreement.

Question 9:
Select the most appropriate idiom for the given underlined segment in the sentence. Riya always considers sincerity,
devotion and dedication as the highest priority of a good employee.

Difficulty : Moderate Average Time: 63 Seconds

Options :
1. Fair and square

2. Ever and anon

3. Free and easy
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First and foremost
Solution :
The correct answer is option 4 i.e. First and foremost.
"First and foremost" means first in order of importance; above all else.

In the context of the sentence, Riya considers sincerity, devotion, and dedication as the most important qualities of a good
employee.

These options do not convey the same meaning as "the highest priority" in the sentence.
Therefore, "First and foremost" is the correct idiom to use in this context.

Question 10:
Select the most appropriate synonym for the highlighted word. This is credible information provided by the informer.

Difficulty : Moderate Average Time: 56 Seconds

Options :
1. commendable

2. dependable
3. detachable
4. digestible
Solution :
The correct answer is option 2 i.e. dependable.
Credible means able to be believed; trustworthy.
Dependable also means reliable or trustworthy, which aligns closely in meaning with credible.
The other option means:
Commendable means praiseworthy or admirable.
Detachable means able to be removed.
Digestible means able to be digested or understood.
Among the given options, dependable best captures the meaning of "credible" as used in the sentence provided.

Question 11 :
Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a
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meaningful and coherent paragraph. A.It is not a walker’s paradise. So walking is not a fashionable pastime here.
B.London is known for its hectic face, frenzied movements, high decibels and dust kicked by the speeding vehicles. C.On
the contrary, life in the countryside is laid back and easy paced. Unless it is raining, people set out for walk. D.For these
reasons, Max never went out for a walk, nor did anyone ask him to accompany.

Difficulty : Moderate Average Time: 79 Seconds

Options :
1. ADCB

2. BADC
3. DCAB
4. CADB
Solution :
The correct answer is option 2 i.e. BADC.

Sentence B: This sentence sets the scene by describing the busy and noisy characteristics of London, emphasizing the
urban environment with its fast-paced lifestyle and traffic.

Sentence A: It follows logically after Sentence B, explaining that due to London's hectic nature described in Sentence B, it
is not conducive to walking as a leisurely activity. This contrasts with places where walking is more common and
enjoyable.

Sentence D: It provides a personal example or consequence of the points made in Sentences B and A. Max, due to the
busy and less pedestrian-friendly nature of London, does not engage in walking activities.

Sentence C: Finally, Sentence C contrasts the urban environment described in Sentences B and A with life in the
countryside. It highlights that in contrast to London, where walking is less common, in the countryside, walking is more
relaxed and enjoyable, except in adverse weather conditions.

Question 12 :
Select the option that expresses the given sentence in passive voice. My father is reading the newspaper.

Difficulty : Moderate Average Time: 76 Seconds

Options :
1. The newspaper is being read by my father.

2. The newspaper happens to be read by my father.

3. The newspaper was being read by my father.
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My father likes reading the newspaper.
Solution :
The correct answer is option 1 i.e. The newspaper is being read by my father.

¢ In the active voice sentence "My father is reading the newspaper,” the subject (my father) is performing the
action (reading).

¢ In the passive voice, the object of the active sentence (newspaper) becomes the subject.

e The verb changes to its passive form ("is being read"), and "by my father" indicates who is performing the action.

Question 13:
Select the most appropriate option that can substitute the underlined segment in the given sentence. He described about
the scenery yesterday.

Difficulty : Moderate Average Time: 63 Seconds

Options :
1. described about the scenary

2. described the scenery
3. describing about the scenery
4. describe the scenery
Solution :
The correct answer is option 2 i.e. described the scenery.
The verb "describe” is correctly followed by the direct object "the scenery."

In English, we typically use "describe" with the direct object directly following it, without the preposition "about™ in this
context.

This sentence is grammatically correct and effectively conveys the intended meaning of describing the scenery.

Question 14 :
Select the INCORRECTLY spelt word.

Difficulty : Moderate Average Time: 50 Seconds
Options :
1. Oligopoly
2. Xylophone
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Zenith
4. Robbust
Solution :
The correct answer is option 4 i.e. Robbust.
Robbust is not a standard English word and is spelled incorrectly. Robust means strong and healthy; vigorous.
Hence, the chosen option will be the correct answer.

Question 15 :
Parts of the following sentence have been given as options. Select the option that contains an error. My younger brother
were attending a short-term computer course these days.

Difficulty : Moderate Average Time: 44 Seconds

Options :
1. were attending

2. My younger brother
3. a short-term computer course
4. these days
Solution :
The correct answer is option 1i.e. were attending.

e The subject "brother" is singular, so the verb should be "was" instead of "were" to agree with the singular subject.
The correct sentence should be: My younger brother was attending a short-term computer course these days.

"Was" is the correct form of the verb to agree with the singular subject "brother."
The rest of the sentence structure and meaning remain correct with this correction.
Therefore, the error is in the option where "were" is used incorrectly with a singular subject.

Question 16 :
Select the most appropriate option that can substitute the underlined segment in the given sentence. | worked hard so that
| might success.

Difficulty : Moderate Average Time: 68 Seconds
Options :
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that | may success
2. that I might successful
3. that I might succeed
4. that | might successor
Solution :
The correct answer is option 3 i.e. that | might succeed.

The correct verb form here is "succeed," which is the infinitive form of the verb and matches the intended meaning of
achieving success.

The phrase "that | might succeed" is grammatically correct and idiomatic. It expresses the purpose or goal of working
hard.

Therefore, "that | might succeed" is the correct choice to complete the sentence properly.

Question 17 :

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a
meaningful and coherent paragraph. A. The government's recent efforts have concentrated on strengthening these ties. B.
The textile industry in India is one of the country's oldest, stretching back several centuries. C. The textile business is
immensely diverse, with hand-spun and hand-woven textiles at one end of the spectrum and capital-intensive modern mills
at the other. D. Its tight ties to agriculture (for raw materials such as cotton) and the country's old history and traditions in
terms of textiles set it apart from other sectors in the country.

Difficulty : Moderate Average Time: 80 Seconds

Options :
1. DABC

2. ABCD
3. BCDA
4. CBDA
Solution :
The correct answer is option 3 i.e. BCDA.

Sentence B: Establishes the historical significance of the textile industry in India, indicating its long-standing presence and
importance in the country's economy and culture.

Sentence C: Expands on the diversity within the textile industry, highlighting the coexistence of traditional and modern
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production methods and products.

Sentence D: Explains the industry's close connection to agriculture, particularly for raw materials like cotton, and
emphasizes how these ties and historical traditions distinguish it from other sectors in India.

Sentence A: Concludes the paragraph by mentioning current governmental efforts aimed at enhancing the relationship
between the textile industry and agriculture, indicating ongoing support and development strategies.

Question 18:
Select the most appropriate ANTONYM of the given word. Conceal

Difficulty : Moderate Average Time: 63 Seconds

Options :
1. Watch

2. See
3. Reveal
4. Hide
Solution :
The correct answer is option 3 i.e. Reveal.
Conceal: To hide or keep something secret.
Reveal: To make something known or visible; to disclose or show something that was previously hidden.
Therefore, Reveal is the correct antonym of "Conceal."

Question 19 :
Select the option that will improve the underlined part of the given sentence. In case no improvement is needed, select 'No
improvement required'. The stranger stood quietly for few moments.

Difficulty : Moderate Average Time: 48 Seconds

Options :
1. For the few moments

2. No improvement required
3. For moments

4. For a few moments
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Solution :
The correct answer is option 4 i.e. For a few moments.

e The phrase "for few moments" should be corrected to "for a few moments."
e Adding the indefinite article "a" before "few moments" makes the sentence grammatically correct.
e "Few moments" suggests a small number of moments, while "a few moments" specifies a short period of time.

Question 20 :
Select the most appropriate ANTONYM of the given word. Memory

Difficulty : Moderate Average Time: 53 Seconds

Options :
1. Suppress

2. Oblivion
3. Retrospection

4. Impart

Solution :
The correct answer is option 2 i.e. Oblivion.

Among the given options, Oblivion is the direct antonym of "Memory" because memory involves remembering or retaining
information, whereas oblivion involves forgetting or being forgotten.

Comprehension :

In the following passage some words have been deleted. Read the passage carefully and select the most appropriate
option to fill in each blank. The civil service is an integral part of the government and plays a crucial role in implementing
policies and programmes that benefit the public. The (1) of civil services is to ensure that the government is
able to provide services to citizens in a timely and effective manner. Civil servants are responsible for a wide range of
tasks, including (2) the implementation of policies and programmes, managing budgets and providing advice to
government officials. In order to perform their duties effectively, civil servants must have a deep understanding of
government processes, as well as strong (3) and analytical skills. They must also be able to communicate
effectively with a wide range of stakeholders, including government officials, citizens and other organisations. To become a
civil servant, individuals typically need to pass a rigorous exam and undergo extensive training. Once they are appointed,
civil servants are expected to abide by a code of conduct that emphasises impartiality, integrity and (4) in
carrying out their duties. Despite the challenges and demands of civil service work, it can be a highly rewarding career
path, providing opportunities to make a positive impact on society and improve the lives of citizens. Whether working in a
local, state or federal government agency, civil servants play a vital role in (5) democratic values and
promoting the public good.
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Question 21 :
Select the most appropriate option to fill in blank no. 1.

Difficulty : Moderate Average Time: 102 Seconds

Options :
1. mandate

2. recommendation
3. defunct

4. function

Solution :
The correct answer is option 4 i.e. function.

Function fits perfectly in this context, as it refers to the role or purpose of civil services in ensuring the government
provides services effectively to citizens.

Hence, the chosen option will be the correct answer.

Comprehension :

In the following passage some words have been deleted. Read the passage carefully and select the most appropriate
option to fill in each blank. The civil service is an integral part of the government and plays a crucial role in implementing
policies and programmes that benefit the public. The (1) of civil services is to ensure that the government is
able to provide services to citizens in a timely and effective manner. Civil servants are responsible for a wide range of
tasks, including (2) the implementation of policies and programmes, managing budgets and providing advice to
government officials. In order to perform their duties effectively, civil servants must have a deep understanding of
government processes, as well as strong (3) and analytical skills. They must also be able to communicate
effectively with a wide range of stakeholders, including government officials, citizens and other organisations. To become a
civil servant, individuals typically need to pass a rigorous exam and undergo extensive training. Once they are appointed,
civil servants are expected to abide by a code of conduct that emphasises impartiality, integrity and (4) in
carrying out their duties. Despite the challenges and demands of civil service work, it can be a highly rewarding career
path, providing opportunities to make a positive impact on society and improve the lives of citizens. Whether working in a
local, state or federal government agency, civil servants play a vital role in (5) democratic values and
promoting the public good.

Question 22 :
Select the most appropriate option to fill in blank no. 2.

Difficulty : Moderate Average Time: 105 Seconds
Page No: 13

Follow us on Address :1997, Mukherjee Nagar, 110009 Download the App

f < o Email : online@kdcampus.org
Call: +91 95551 08888



https://study.kdcampus.live/question-paper/ssc-cgl-tier-i-previous-year-question-paper-2023-10-27-morning-shift-41494
https://study.kdcampus.live/

STUDY CONTENTS THAT GET YOU SELECTED FREE

N
L ' VE @ 5LAKH+ STUDENTS %, 30+ EXPERT INSTRUCTORS 10000+ HOURS OF VIDEOS
- Already enrolled with our ;‘{ Our instructors are the best -‘ All videos are well-explained for you P D F

selection focused courses. In the industry to get every bit out olﬁthe videos

Options :
1. promoting

2. escalating
3. developing

4. managing

Solution :
The correct answer is option 4 i.e. managing.

The sentence structure suggests that civil servants are responsible for overseeing or supervising the implementation of
policies and programs.

"Managing" fits well in this context as it indicates the role of civil servants in ensuring the effective execution and
coordination of government initiatives.

Comprehension :

In the following passage some words have been deleted. Read the passage carefully and select the most appropriate
option to fill in each blank. The civil service is an integral part of the government and plays a crucial role in implementing
policies and programmes that benefit the public. The (1) of civil services is to ensure that the government is
able to provide services to citizens in a timely and effective manner. Civil servants are responsible for a wide range of
tasks, including (2) the implementation of policies and programmes, managing budgets and providing advice to
government officials. In order to perform their duties effectively, civil servants must have a deep understanding of
government processes, as well as strong (3) and analytical skills. They must also be able to communicate
effectively with a wide range of stakeholders, including government officials, citizens and other organisations. To become a
civil servant, individuals typically need to pass a rigorous exam and undergo extensive training. Once they are appointed,
civil servants are expected to abide by a code of conduct that emphasises impartiality, integrity and (4) in
carrying out their duties. Despite the challenges and demands of civil service work, it can be a highly rewarding career
path, providing opportunities to make a positive impact on society and improve the lives of citizens. Whether working in a
local, state or federal government agency, civil servants play a vital role in (5) democratic values and
promoting the public good.

Question 23:
Select the most appropriate option to fill in blank no. 3.

Difficulty : Moderate Average Time: 107 Seconds
Options :
1. technical
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problem-solving
3. interpersonal

4. accounting

Solution :
The correct answer is option 2 i.e. problem-solving.

Civil servants need to have strong problem-solving skills to effectively address issues and challenges that arise in
implementing policies and programs.

Problem-solving skills are essential for analyzing complex situations, finding solutions, and making decisions that benefit
the public and support government objectives.

Comprehension :

In the following passage some words have been deleted. Read the passage carefully and select the most appropriate
option to fill in each blank. The civil service is an integral part of the government and plays a crucial role in implementing
policies and programmes that benefit the public. The (1) of civil services is to ensure that the government is
able to provide services to citizens in a timely and effective manner. Civil servants are responsible for a wide range of
tasks, including (2) the implementation of policies and programmes, managing budgets and providing advice to
government officials. In order to perform their duties effectively, civil servants must have a deep understanding of
government processes, as well as strong (3) and analytical skills. They must also be able to communicate
effectively with a wide range of stakeholders, including government officials, citizens and other organisations. To become a
civil servant, individuals typically need to pass a rigorous exam and undergo extensive training. Once they are appointed,
civil servants are expected to abide by a code of conduct that emphasises impartiality, integrity and (4) in
carrying out their duties. Despite the challenges and demands of civil service work, it can be a highly rewarding career
path, providing opportunities to make a positive impact on society and improve the lives of citizens. Whether working in a
local, state or federal government agency, civil servants play a vital role in (5) democratic values and
promoting the public good.

Question 24 :
Select the most appropriate option to fill in blank no. 4.

Difficulty : Moderate Average Time: 106 Seconds
Options :
1. efficiency
2. activism
3. severity
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Solution :
The correct answer is option 1 i.e. efficiency.

Civil servants are expected to carry out their duties efficiently, meaning they should perform tasks effectively and in a
timely manner.

Efficiency is crucial in ensuring that government services and policies are implemented effectively for the benefit of the
public.

Comprehension :

In the following passage some words have been deleted. Read the passage carefully and select the most appropriate
option to fill in each blank. The civil service is an integral part of the government and plays a crucial role in implementing
policies and programmes that benefit the public. The (1) of civil services is to ensure that the government is
able to provide services to citizens in a timely and effective manner. Civil servants are responsible for a wide range of
tasks, including (2) the implementation of policies and programmes, managing budgets and providing advice to
government officials. In order to perform their duties effectively, civil servants must have a deep understanding of
government processes, as well as strong (3) and analytical skills. They must also be able to communicate
effectively with a wide range of stakeholders, including government officials, citizens and other organisations. To become a
civil servant, individuals typically need to pass a rigorous exam and undergo extensive training. Once they are appointed,
civil servants are expected to abide by a code of conduct that emphasises impartiality, integrity and (4) in
carrying out their duties. Despite the challenges and demands of civil service work, it can be a highly rewarding career
path, providing opportunities to make a positive impact on society and improve the lives of citizens. Whether working in a
local, state or federal government agency, civil servants play a vital role in (5) democratic values and
promoting the public good.

Question 25
Select the most appropriate option to fill in blank no. 5.

Difficulty : Moderate Average Time: 106 Seconds

Options :
1. mimicking

2. upholding
3. lacking

4. contextualising
Solution :
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The correct answer isoption 2 i.e. upholding.
"Upholding" means to support, maintain, or defend something, such as values or principles.

In the context of civil service work, civil servants play a role in supporting and maintaining democratic values and
promoting the public good.

The word "upholding" fits well with the idea of ensuring that democratic values are upheld and the public good is
promoted.

Ssc Cqgl Tier | Previous Year Question Paper
Analysis

The analysis of Ssc Cgl Tier | Previous Year Question Paper held on 2023-10-27 in the Morning Shift exam is as follows:
1. 25 questions were moderate.
2. The safe score is 140 marks.
3. 25 questions were asked from English Language and 25 questions were asked from English Language
4. 0 questions should have been skipped if you were short of time.

Ssc Cgl Tier I Previous Year Question Paper Topic
Wise Weightage

English Language

Cloze Test-5

Error Spotting - 1
Sentence & Para Jumbles - 2
Idioms - 2

One Word Substitution - 2
Voice - 2

Sentence Improvement - 3
Synonym - 1

Antonym - 5

Incorrectly Spelt - 2

. Incorrectly Spelt - 2
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1. Try to solve Ssc Cgl Tier | Previous Year Question Paper without taking any help from the solutions.

2. Ssc Cqgl Tier | Previous Year Question Paper require proper usage of concept so firstly read the question thoroughly
and then use the right concept.

3. In case you're not able to solve the question in less than 30 seconds in the exam then you should skip the question
and move to the next question.

Daily Current Affairs

KD Live is providing Current Affairs on a daily basis for SSC and a Current Affairs Quiz too for the practice.

KD Live Free Offerings
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KD Live is Offering Every Information and Study Material required for the self study. Please click on the following links for

accessing those.

Study Plan

General Science
General Awareness
General Knowledge
Quantitative Aptitude
Logical Reasoning
English Language
Today In History
Syllabus

Know Your State
Know Your Country
Know Your City
Know Your Leader
Books And Authors
Daily Vocabulary
Daily Editorial
Latest Notifications
Exam Dates

Admit Card

Exam Results
Exam Cutoff

Exam Eligibility
Exam Pattern
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Further Guidance on Ssc Cgl Tier | Previous Year Question Paper

For Asking any query on Ssc Cgl Tier | Previous Year Question Paper please mail Send Email or you can fill the form at
KD Live.

About KD Live

KD live has an expertise in providing apt explanations for the Ssc Cgl Tier | Previous Year Question Paper since 2008.
More than 10 lakh aspirants have cleared competitive exams under the guidance of Neetu Mam. Study.kdcampus.live is
providing free information on various topics and for the Ssc Cgl Exam you can refer the following link Click Here however if
you want to practice more questions then please refer the following link Click Here.

About Neetu Mam

Neetu Mam is primarily passionate for the English language and teaching from the last 20 years however for the Ssc Cgl
Tier | Previous Year Question Paper. She has guided her team to provide the best explanation for the question.
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